FORTRAN READ
SR8000 FORTRAN77 FORTRAN90 READ
2004 8 9
runst(pvfio(1)) 8 20 10
8 20 10
runst(pvfio(l)) 20 10
runst(pvfio(0))
runst(pvfio(1))
FORTRAN77 01-03 01-05-/A 2001.4.2 2004.8.9
FORTRAN90 01-03 01-06 2001.4.2 2004.8.9
2
READ 2
1 READ KCHF361R
runst(pvfio(1))
READ 2 () d
a1l DO
b 1 2 DO
2 READ FORMAT



2 READ UNIT FMT

2 READ
2 READ 1 1
FORMAT 1
5
3 FORMAT 1
8

a lw w15

b Ew.d, Dw.d, Qw.d w<=32 1<= d<=9

w d 4 3> 0
¢ Ew.dEe w<=32 1<= d<=9 1<=
=0 w d e 2 3>=0
L,M K(1) K(6)

>

READ(5,100) (K(1),1=1,6),L,M

100 FORMAT(215)
< > < >
K(1) = 100 K(2) = 101
K(3) = 102 K(4) = 103
K(5) = 104 K(6) = 105
L = 100 M = 1010
fiochk fiof77 fiof90
FORTRAN
@
¢)
) @

(1) fiochk

e<=3



fiochk [ ] fortl.f (fort2.f fort3.f ...)

- "k o

****Ok

--> PVFIO Check-up > fort.f, LINE=
- INCLUDE LINE=I-

****ng

fiochk fiof77 fiof90

(2) fiof77, fiof90

fiof77 [ ] fort.f

fiofo0 [ ] fort.f

fiochk



KCHF2000R Incorrect data has been input at this READ statement.

KCHF926R read error occurs on file.
0x1007bcf8 hf_err+0x678
0x10044d4c  hf_ioerr+0x2b4
0x100033c8 hf_fio+0xfc

0x10000al4 _hf fio+0x28

0x1000051c MAIN+Ox50 [fort.f: ]

0x10000430 __ start+0x1f0

fiochk Tfiof77 fiofo0

1 runst(pvfio(1))
2004 8 9 runst(pvfio(0))
runst(pvfio(l))
8 20 10 runst(pvfio(1))
runst(pvfio(1))

% a.out -F'runst(pvfio(l))"

% a.out

runst(pvfio(0]1))

03-5841-2712



